000000000 0CRLR000660000C00008000000Q006C060800006006$000000000000000006000000000006006006000RO00OB0000COS S

Unit 4 Pre-Test Review — Trig in Radians :
MHF4U :

Section 1: 4.1 — Radian Measure

1) Determine the approximate radian measure, to the nearest hundredth, for each angle.

a) 33° b) 138° c) 252° d) 347°
=220 = 3§ T = 252W = 4T
s 5w L& g
= 058 rad 2 2.4l rad = U0 red — .06 yud
2) Determine the approximate degree measure, to the nearest tenth, for each angle.
a) 1.24 b) 2.82 c) 4.78 d) 6.91
= 124 (1f0) o /1 — 79 (180 N«
_,,,,Miéw = 2-82 ( @} - Lﬁ.?.iff) -:.(é | 7) Cli 750)
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3) Determine the exact radian measure of each angle. =
a) 75° b) 20° c) 12° d) 9°
— ST o - 1217 —~ “1
=757 - ZoT =12 = an
! o 150 150
STl T = Tl
[ {c s tl = = ,a—""‘“”/ Ve .
oz 9 ol 15 = -»«ﬁ rad
e
4) Determine the exact degree measure of each angle.
21 41 7T 11w
= o(ise -4 (150 _ (%, .
,—%-—S:"z _’_ZTW - ZM(MM) = W m{l ?ﬂD)
i ] = L%
= 2 - Bd( _ ) o
7 = o5 = 1o

5) An arc of a circle measuring 22.5 cm subtends a central angle of%ﬂ radians. Find the approximate radius of
the circle, to the nearest tenth of a cm.
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Section 2: 4.2 — Trig Ratios and Special Angles

6) Draw both special triangles using radian measures

7) Find the exact value (using CAST and drawing the special triangles) for ...
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Zﬂg’in:g; = _b ~ -’“E:/
4@/&:“/3 5
=-N32
2
&%
&
= ey (T d) sec X — e T
c)cos4 = - G T ) sec = 5«3;2
o
G =
e, 2 -
= Co= T
Z-

e) tan 31 PD(A* é\)o) f)sinizE (0/“’ )

— AanpT

e

ﬂ\
W\

= 9
?/5 O

o5,

=




8) Suppose the terminal arm for the angle 8 passes through the point (-4, 2). Find the exact values of cotf and

sinf.
A
E=—
Cot =
Foo= [2Y5 2
z E < - =5
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s =~
Z "
(324 b=c -
9) Suppose sin 8 = —%, and 322 < 8 < 2m. Find sec 8 and tan 8.
Sec = J,,,,
- (o5&
| w2 B
i3 S

B2z a=ss
10) Determine exact values for all 6 trig ratios ofs?n radians.
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1@) Determine an exact value for each expression.
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cot™ s 3 . T
4 — — —
a) cosgcscg b) cos - CsC + sin Z
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Unit 5 Pre-Test Review — Trig Identities and EqUatidhs E
MHF4U .
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Section 1: Transformation and Co-function Identities

1 1) Given that sin (27n) = (.7818, use equivalent trigonometric expressions to evaluate the following,

a)cos3—n b)cosll—«7I
14 14
3T_. K_a N P
e * g =t
o 3T _ 7rSr 4T 20 G 70 4T 2
] = = = = ’ o=z "% == -
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Section 2: Compound Angles

4.2} Use an appropriate compound angle formula to express as a single trig function, and then determine an
exact value for each.

O b a b
LT T T . T T 57 . T . 5w
a) sin—cos -+ cos—sin— b) cos—cos— — sin—sin—
3 6 376 3 12 3712
= S (TT) = CosCatb) = cos (T, ST
3 £ - 2 =
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A.3) Apply a compound angle formula, and then determine an exact value for each.

a) cos (3 %) b) sin (57 - =)
= Cos BT Cos T 4 Sin 20 sin T — Sy ST el . SInNZT &g ST
— Los,;(,jcoséqu\n 7 g "Sm“‘lT 3 = )
S in T A sin T
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>G T 4T = (L) -l ) C 3') B2
. 4 3 |
f'EQ/QiL BN N CINCY
z 7 s N Z 2z 2z z
- -’—-—--——""——__" - /

3 T



. 4) Angle x is in the first quadrant and angle y is in the second quadrant such that cos x = —and siny = —
Determine an exact value for...

>
a)sinx = s b) cosy Aj’
(e N
— —24 =
2.5
c) sin(x + y) d) sin(x — y)
= Sinzcosy 4 SINY @Oy

) = Sinx sty — Sirtey «0S P
= (5N (=24 7 \(12) ,
BE (7)% ooty (Y
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e
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e) cos(x +y) f) cos(x —y)
— Cdsx,c@sja <5mx>m‘j

= oS (:Qsjj_}, S\'nxﬁ‘mtj
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1 5) Use an appropriate compound angle formula to determine an exact value for each

a) Sinlll—zn -— §in¢_‘I - g\f\ (Tr "Tr\>
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]l ) — =S /M‘» >
251 s s )= Cosf{— )= gy
b)cos=—~ = ¢ ‘5(2;%‘/,210 ( Lz 4
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-16) A 15-m ladder leaning against a wall is in an unsafe posmon if it makes an angle of less than E radians with

the wall. Use a compound angle formula to determine an exact expression for the minimum distance that the
foot of the ladder can be placed from the wall so that the ladder is standing safely.
s _ x| { A7
Binl, = = 2 > e l-%
=5 (ST anx_ ST, T )
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A 7) Express each of the following as a single trig ratio and then evaluate

Section 3: Double Angle Formulas

in o = 2(™Y _qin2 (&

a)Zsmlzcos12 b) cos (12) sin (12)
= S‘m@ _ Sin T _ 2W ) Cos T
(e = n'é o Co )( (,7/ A
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— s U
z = 3
— Jz
Z
i {{? Angle x lies in the third quadrant, and tanx = %.
a) Determine an exact value for cos(2x) x
R
2 2 ,
S Doe = Cos o SN
S ~7
2 : : A
= <~24 > B (’ii>
Y 5
= 24Z3> _ sor
.25 G253

b) Determine an exact value for sin(2x)

= 2 SinxcoeSx = ( >(/2Lﬂ>

P

— /
6y

l‘:()Gwen sinx = % and 0 < x < =, find sin(2x)




Answer Key

1)a)0.58 b} 2.41 c) 4.4 d} 6.06 2)a)71° b} 161.6° ¢)273.9 d) 395.9°
S T T L3 ° o o o

3)3)‘1—2 b)g C)E d)Z_O 4)8) 72 b) 80 C) 105 d) 110 5) 5.4cm

6)

7)a)—— b) - o) - d)% e)0 f) —1

- g — L
8) cotf = 2 and sinf =%

13 12
9)sec9=?,tan6=—?

. 5w ﬁ 5m_ 1 S5 S5 ~2 51 5t -1

w,ﬁ()sm = cosa—z,tans— 3,csc3——‘/E,seca—z,cotB—‘/5

B a2 b)@ PR

ANSWER KEY
11)a) 0.7818 b) —0.7818

4.2)a)sin= =1 b)cosZ = L
2 4 vz

13)a) 2341 f+1 b)%%g

A.4)a) > p) -2 ¢ 36 204 323 253
))13 ) 25 c) 325 d) - 325 )_—3_2*5 )_55

as)a) L )2 g 2-y3

VZ

1.6) 15(

2\/_) meters

47)a)sin= =2 p)cosZ =L m_ 1 T _
6 2 ) Se =73 c)cos4_ ﬁd)tang_\[?j

15) &) s27- L) 33¢
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